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     　　　　　　Survey Program　601 (　Ver. 1.01　)

［　Outline　］

　Recentry in the office we can calculate elevation and coordinates simply

by personal computers.

Therefore in the field we can calculate elevation and coordinates simply

by pocket computeres , I think that programmable calculator is resonable

computer for example CASIO FX-603P .

　The above mentioned CASIO FX-603P is suited for field calculation.

［　Program Outline　］    

　Those programs were made of simple calculation check for main object

in the field.

If you can get the result of calculation by personal computers simply ,

you had better used personal computer instead of pocket computers in the office.

  Those programs include +- 1 mm error but this error is ignored.

［　Program Contents　・　Instruction　］

　 　P 0 :　Reverse Calculation　［　Radiaton Reverse　］

       Object length and azimuth can be calculated from 2 points coordinates.

　　　　　　　　　　　　　　　。（２－１）

　　　　　　　　　　　　　　　　　　　　。（２－２）

　　　　　　（１）　。

　　　　　・・・・・・　Memory table  ・・・・・・

　　　　　Ｍ  81：Ｘ１ Coordinate 　Ｍ  83：Ｘ２ Coordinate

　　　　　Ｍ  82：Ｙ１ Coordinate 　Ｍ  84：Ｙ２ Coordinate

　　　　　Ｍ  00：Plane Length      Ｍ   F：Azimuth

　　　　　・・・・・・　　Example　・・・・・・

　　　　　Ｘ１＝１００．０００　Ｙ１＝１００．０００

　　　　　Ｘ２＝３５０．０００　Ｙ２＝２５０．０００　（２－１）

　　　　　Ｘ２＝２２６．８２４　Ｙ２＝４０９．３３２　（２－２）

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　　　　Ｐ０

　　２　Reverse       　　　　　　    ＥＸＥ          Indicate Title

　　３　Ｘ１　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｘ１ Coordinate

　　４　Ｙ１　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｙ１ Coordinate

　　５　Ｘ２　　　（２－１）　３５０　ＥＸＥ　　　　　Input Ｘ２ Coordinate

　　６　Ｙ２　　　（２－１）　２５０　ＥＸＥ　　　　　Input Ｙ２ Coordinate

　　７　ＡＺ    59゜02’10.48”       ＥＸＥ　　　　　Indicate Azimuth

　　８　Ｌ　２９１．５４８　　ＥＸＥ　　　　　　　　　Indicate Plane Length

　　９　Ｘ２　　　（２－２）　２２６．８２４　ＥＸＥ　Input Ｘ２ Coordinate

　１０　Ｙ２　　　（２－２）　４０９．３３２　ＥＸＥ　Input Ｙ２ Coordinate

　１１　ＡＺ    22゜17’35.85”       ＥＸＥ　　　　　Indicate Azimuth

　１２　Ｌ　３３４．３２１　　ＥＸＥ　　　　　　　　　Indicate Plane Length

　１３　Ｘ２　　　　　　　　　　　　　　　　　　　　　Input Ｘ２ Coordinate

　　 P 1 :　Radiation Traverse　・　Open Traverse Calculation

        Object coodinates can be calculated from horizontal angle and length.

 　　　　　　  In case Radiation Traverse is HA , Input　+ ( Plus ) .

 　　　　　　  In case Open Traverse is HA , Input　- ( Minus ) .

                                          + ( Plus )    ---  Radiation Traverse

　　　　　　　　　　                      - ( Minus ) 　---  Open Traverse

　　　　　 　　In case Slope Length input L is - ( Minus ) .

　　　　          Vertical input mode

　　　　　　　　　　In case Horizontal is 90゜, Input　+ ( Plus ) .

　　　　　　　　　　In case Horizontal is  0゜, Input　- ( Minus ) .

　　　　・・・・・　Memory table　・・・・・　　・・・　Memory name　・・・

　　　Ｍ  81：Ｘ１ Coordinate Ｍ   F：Azimuth 　　　　 ＨＡ　　Horizontal Angle

　　　Ｍ  82：Ｙ１ Coordinate Ｍ  97：Horizontal Angle Ｌ　　　Length

　　　Ｍ  83：Ｘ２ Coordinate Ｍ  8F：Ｘ Coordinate 　 Ｖ　　　Vertical

　　　Ｍ  84：Ｙ２ Coordinate Ｍ  9F：Ｙ Coordinate

　　　・・・・・・・　　Example　　・・・・・・・

　　　Ｘ１＝１００．０００　　　Ｙ１＝１００．０００

　　　Ｘ２＝３５０．０００　　　Ｙ２＝２５０．０００

　　　ＨＡ＝    53゜15’25”  　Ｌ　＝３３４．３２２

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　　　　Ｐ１

　　２　Traverse               　　 　ＥＸＥ　　　　　Indicate Title

　　３　Ｘ１　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｘ１ Coordinate

　　４　Ｙ１　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｙ１ Coordinate

　　５　Ｘ２　　　　　　　　　３５０　ＥＸＥ　　　　　Input Ｘ２ Coordinate

　　６　Ｙ２　　　　　　　　　２５０　ＥＸＥ　　　　　Input Ｙ２ Coordinate

　　７　ＡＺ    59゜02’10.48"  　　　ＥＸＥ　　 　　 Indicate Basic Azimuth

　　８　Ｌ　２９１．５４８　　ＥＸＥ　　　　　　　　　Indicate Basic Length

　　９　ＨＡ　　　　　　　　　53.1525 ＥＸＥ　        Input Horizontal Angle

　１０　Ｌ　　　　　　　　　　３３４．３２２　ＥＸＥ　Input Length

　１１　ＡＺ   112゜17’35.4”      　ＥＸＥ　　　　　Indicate Azimuth

　 12 　X 　   409.333    　　ＥＸＥ　　　　　　　　　Indicate X Coordinate

　 13 　Y 　  - 26.824    　　ＥＸＥ　　　　　　　　　Indicate Y Coordinate

　１４　ＨＡ　　　　　　　　　　　　　　　　　　　　　Input Horizontal Angle

　　 P 2 :　Intermidiam Point　・　Width Point Calculation

  　　　　We can get intermidiam coordinates of straight line and width point.

　　　　　（－）　・・・　Left side　（＋）　・・・　Right side

　　　　・・・・・　Memory table　・・・・・　　・・・　Memory name　・・・

　　　Ｍ　81：Ｘ１ Coordinate Ｍ　95：Azimuth 　　　　Ｌ  　Intermidiam Length

　　　Ｍ　82：Ｙ１ Coordinate Ｍ　　：      　　　　－：＋  Width Length

　　　Ｍ　83：Ｘ２ Coordinate Ｍ　8F：Ｘ Coordinate

　　　Ｍ　84：Ｙ２ Coordinate Ｍ　9F：Ｙ Coordinate

　　　・・・・・・・　　Example　　・・・・・・・

　　　Ｘ１＝１００．０００　　　Ｙ１＝１００．０００

　　　Ｘ２＝３５０．０００　　　Ｙ２＝２５０．０００

　　　Ｌ　＝１６７．１６０　　－：＋＝　１０．０００

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　　　　Ｐ２

　　２　Inter Point           　　　　ＥＸＥ　　　　　Indicate Title

　　３　Ｘ１　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｘ１ Coordinate

　　４　Ｙ１　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｙ１ Coordinate

　　５　Ｘ２　　　　　　　　　３５０　ＥＸＥ　　　　　Input Ｘ２ Coordinate

　　６　Ｙ２　　　　　　　　　２５０　ＥＸＥ　　　　　Input Ｙ２ Coordinate

　　７　ＡＺ    59゜02’10.48”       ＥＸＥ　　　　　Indicate Basic Azimuth

　　８　Ｌ　２９１．５４８　　ＥＸＥ　　　　　　　　　Indicate Basic Length

　　９　Ｌ　　　　　　　　　　１６７．１６０　ＥＸＥ　Input Intermidiam Length

　１０　ＡＺ    59゜02’10.48”       ＥＸＥ　　　　　Indicate Azimuth of Int.

　 11 　X 　   243.339        ＥＸＥ　　　　　　　　　Indicate INT.X Coordinate

　 12 　Y 　   186.003    　　ＥＸＥ　　　　　　　　　Indicate INT.Y Coordinate

　１３　－：＋　　　　　　　　１０　　ＥＸＥ　　　　　Input Width Length

　１４　ＡＺ   149゜02’10.48”       ＥＸＥ　　　　　Indicate Azimuth of Wid. 

　 15 　X 　   248.483    　　ＥＸＥ　　　　　　　　　Indicate Wid.X Coordinate

　 16 　Y 　   177.428    　　ＥＸＥ　　　　　　　　　Indicate Wid.Y Coordinate

　１７　－：＋　　　　　　　　　　　　　　　　　　　　Input Width Length

　　 P 3 :　4 Points Intersection Calculation

          We can get 4 points intersection coordinates.

　　　　　　　　　　　　　　　　　　　　　。（２）

　　　　　　　（３）　。

　　　　　　　　（１）　。　　　　　　　　。（４）

　　　　　・・・・・・　Memory table　・・・・・・

　　　　　Ｍ　81：Ｘ１ Coordinate 　Ｍ　85：Ｘ３ Coordinate

　　　　　Ｍ　82：Ｙ１ Coordinate 　Ｍ　86：Ｙ３ Coordinate

　　　　　Ｍ　83：Ｘ２ Coordinate 　Ｍ　87：Ｘ４ Coordinate

　　　　　Ｍ　84：Ｙ２ Coordinate 　Ｍ　88：Ｙ４ Coordinate

　　　　　Ｍ　8F：Ｘ　 Coordinate 　Ｍ　9F：Ｙ　 Coordinate

　　　　　・・・・・・　　Example　　・・・・・・

　　　　　Ｘ１＝　　４．０００　Ｙ１＝　　５．０００

　　　　　Ｘ２＝　１１．０００　Ｙ２＝　１２．０００

　　　　　Ｘ３＝　　７．０００　Ｙ３＝　　４．０００

　　　　　Ｘ４＝　　６．０００　Ｙ４＝　１２．０００

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　　　　Ｐ３

　　２　４Ｘ　　　　　　　　　ＥＸＥ　　　　　　　　　　Indicate Title

　　３　Ｘ１　　　　　　　　  　４　　ＥＸＥ　　　　　　Input Ｘ１ Coordinate

　　４　Ｙ１　　　　　　　　　  ５　　ＥＸＥ　　　　　　Input Ｙ１ Coordinate

　　５　Ｘ２　　　　　　　　　１１　　ＥＸＥ　　　　　　Input Ｘ２ Coordinate

　　６　Ｙ２　　　　　　　　　１２　　ＥＸＥ　　　　　　Input Ｙ２ Coordinate

　　７　Ｘ３　　　　　　　　　  ７　　ＥＸＥ　　　　　　Input Ｘ３ Coordinate

　　８　Ｙ３　　　　　　　　　  ４　　ＥＸＥ　　　　　　Input Ｙ３ Coordinate

　　９　Ｘ４　　　　　　　　　  ６　　ＥＸＥ　　　　　　Input Ｘ４ Coordinate

　１０　Ｙ４　　　　　　　　　１２　　ＥＸＥ　　　　　　Input Ｙ４ Coordinate

　 11 　X 　６．５５６　　　　ＥＸＥ　　　　　　　　　　Indicate X Coordinate

　 12 　Y　 ７．５５６　　　　ＥＸＥ　　　　　　　　　　Indicate Y Coordinate

　１３　Ｘ１　　　　　　　　　　　　　　　　　　　　　　Input Ｘ１ Coordinate

　　 P 4 :　Slope Length ---> Distance

　　　　  We can get a rest distance when we want set a point by setting

       temporary point.

　　　    Result　ｄ＝＋（ Plus ） ：　ｄ　Far away from temporary point

　　　　　Result　ｄ＝－（ Minus ）：　ｄ　Neer from temporary point

　　　    Vertical input mode

　　　　　　　　　In case Horizontal is 90゜, Input　+ ( Plus ) .

　　　　　　　　　In case Horizontal is  0゜, Input　- ( Minus ) .

　　　　　　　　　　　　　　　　　　　　　　　　　　　　    。

　　　　　　　　　　　　　　　　　Ｌ

　　　　　Instrument　。　　　　　　　　　　　。　　　　　　。Temporary

　　　　　　 　point　　　　　　Ｌ０　　　　True  　-ｄ           point

                                              point

　　　・・・・・・・・・　Memory table　・・・・・・・・・

　　　Ｍ　00：Basic Length［Ｌ０］　Ｍ　90：Slope Length　［Ｓ　］

　　　Ｍ　94：Plane Length　　　　　Ｍ　5F：Vertical    　［Ｖ　］

　　　　　　　　・・・・　　Example　　・・・・

　　　　　　　　Ｌ０＝１００．０００　　　Basic Length

　　　　　　　　Ｖ　＝８８゜４９’５５”　Vertical

　　　　　　　　Ｓ　＝１００．１１１　　　Slope Length

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　　　　Ｐ４

　　２　Ｓ－＞Ｌ　　　　　　　ＥＸＥ　　　　　　　　　Indicate Title

　　３　Ｌ０　　　　　　　　　１００　ＥＸＥ　　　　　Input Basic Plane Length

　　５　Ｖ　　　　　　　　　　８８．４９５５　ＥＸＥ　Input Vertical

　　４　Ｓ　　　　　　　　　　１００．１１１　ＥＸＥ　Input Slope Length

　　６　Ｌ　１００．０９０　　ＥＸＥ　　　　　　　　　Indicate Plane Length

　　７　ｄ　－０．０９０　　　ＥＸＥ　　　　　　　　　Indicate rest Length

　　８　Ｖ　　　　　　　　　　　　　　　　　　　　　　Input Vertical

　　 P 5 :　Angle Calculation

          We can get a inter angle and length from 3 known points.

　　　　　　　　　　　　　　　。（２）

　　　　　　　　　　　　　　　　　　　　。（３）

　　　　　　（１）　。

      　　　　・・・・・・　Memory table　・・・・・・　

　　　      Ｍ　81：Ｘ１ Coordinate 　Ｍ　85：Ｘ３ Coordinate

　　      　Ｍ　82：Ｙ１ Coordinate 　Ｍ　86：Ｙ３ Coordinate

　　      　Ｍ　83：Ｘ２ Coordinate 　Ｍ　 F：Horizontal Angle

　　      　Ｍ　84：Ｙ２ Coordinate   Ｍ　00：Plane Length

　　       　・・・・・・　　Example　　・・・・・・

　　　      Ｘ１＝１００．０００　Ｙ１＝１００．０００

　　　      Ｘ２＝３５０．０００　Ｙ２＝２５０．０００

　　      　Ｘ３＝２２６．８２４　Ｙ３＝４０９．３３２

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　  　SHIFT Ｐ５

　　２　Angle     　　　　　　ＥＸＥ　　　　　　　　　Indicate Title

　　３　Ｘ１　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｘ１ Coordinate

　　４　Ｙ１　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｙ１ Coordinate

　　５　Ｘ２　　　　　　　　　３５０　ＥＸＥ　　　　　Input Ｘ２ Coordinate

　　６　Ｙ２　　　　　　　　　２５０　ＥＸＥ　　　　　Input Ｙ２ Coordinate

　　７　ＡＺ　  59゜02’10.48”       ＥＸＥ　　　　　Indicate Basic Azimuth

　　８　Ｌ　２９１．５４８　　ＥＸＥ　　　　　　　　　Indicate Basic Length

　　９　Ｘ３　　　　　　　　　２２６．８２４　ＥＸＥ　Input Ｘ３ Coordinate

　１０　Ｙ３　　　　　　　　　４０９．３３２　ＥＸＥ　Input Ｙ３ Coordinate

　１１　ＡＮＧ 323゜15’25.3”          　　　ＥＸＥ　Indicate Horizont. Angle

　１２　Ｌ　３３４．３２１　　ＥＸＥ　　　　　　　　　Indicate Plane Length

　１３　Ｘ３　　　　　　　　　　　　　　　　　　　　　Input Ｘ３ Coordinate

　　 P 6 :　Indirect Level Calculation 1  ( S,V ) ［ Elevation , Coordinates ］

　　　　  We can get elevation and coordinates from survey length and vertical

      angle.

　　　    In case input ＭＨ（ Target High ） －（ Minus ）that point turnning

      point.

　　　    In case input ＩＨ（ Instrument High ） －（ Minus ）output

      coordinates.

　　　    Vertical input mode

　　　　　　　　　In case Horizontal is 90゜, Input　+ ( Plus ) .

　　　　　　　　　In case Horizontal is  0゜, Input　- ( Minus ) .

 　　　・・・・・・・・・　Memory table　・・・・・・・・・

　　　Ｍ　91：Basic Elevation［ＥＬ］　Ｍ　96：Grand High      ［ＧＨ］

　　　Ｍ　94：Plane Length　　　　　   Ｍ　92：Instrument High ［ＩＨ］

　　　Ｍ　5F：Vertical       ［Ｖ　］  Ｍ　93：Target High   　［ＭＨ］

　　　Ｍ　90：Slope Length 　［Ｌ　］

　　　　　　・・・・・・　　Example　　・・・・・・

　　　　　　ＥＬ＝５００．０００　Ｓ　＝１００．０００

　　　　　　ＩＨ＝　　１．５００　Ｖ　＝８７゜３９’４５”

　　　　　　ＭＨ＝　　０．２５０　

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　SHIFT Ｐ６

　　２　High 1 ( S,V )                ＥＸＥ　　　　　Indicate Title

　　３　ＥＬ　　　　　　　５００    　ＥＸＥ　　　　　Input Basic Elevation

　　４　ＩＨ　　　　　　　　　１．５００　ＥＸＥ　　　Input Instrument High

　　５　ＭＨ　　　　　　　　　０．２５０　ＥＸＥ　　　Input Target High

　　６　Ｓ　　　　　　　　１００　    ＥＸＥ　　　　　Input Slope Length

　　７　Ｖ　　　　　　　　　８７．３９４５　  ＥＸＥ　Input Vertical

　　８　Ｌ　    ９９．９１７　ＥＸＥ　　　　　　　　　Indicate Plane Length

　　９　ＧＨ　５０５．３２９　ＥＸＥ　　　　　　　　　Indicate Grand High

　１０　ＭＨ　　　　　　　　　　　　　　　　　　　　　Input Target High

　　 P 7 :　Simple curve Intermidiam Calculation

　　　    We can get intermidiam coordinates from a simple curve

      on the known 2 points.

          After input known 2 points please input radius

      then output center coordinates of simple curve.

　　　          In this case Radius is （Ｒ）

　　　　        　（－）　・・・　Left side　　　　（＋）　・・・　Right side

　　　and curve length is （ＣＬ）

　　　　　          　　　　　+    Order    ( 1  --->  2 )

　　　　　　　　　　          -    Opposite ( 1  --->  2 )

 　　　　　・・・・・　Memory table　・・・・・・・・　

　　　　　Ｍ　81：Ｘ１ Coordinate　Ｍ　97：Radius　    ［Ｒ　］　

　　　　　Ｍ　82：Ｙ１ Coordinate　Ｍ　98：Curve Length［ＣＬ］　　

　　　　　Ｍ　83：Ｘ２ Coordinate　Ｍ　8F：Ｘ Coordinate

　　　　　Ｍ　84：Ｙ２ Coordinate　Ｍ　9F：Ｙ Coordinate

　　　・・・・・・・　　Example　　・・・・・・・

　　　Ｘ１＝１００．０００　　　Ｙ１＝　　０．０００

　　　Ｘ２＝　　０．０００　　　Ｙ２＝１００．０００

　　－Ｒ＋＝１００．０００　　　ＣＬ＝　１０．０００

 ・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　SHIFT Ｐ７

　　２　Ｓimple Curve           　　　ＥＸＥ　　　　　Indicate Title

　　３　Ｘ１　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｘ１ Coordinate

　　４　Ｙ１　　　　　　　　　　　０　ＥＸＥ　　　　　Input Ｙ１ Coordinate

　　５　Ｘ２　　　　　　　　　　　０　ＥＸＥ　　　　　Input Ｘ２ Coordinate

　　６　Ｙ２　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｙ２ Coordinate

　　７　ＡＺ  315゜0’0”     　　　　ＥＸＥ　　　　　Indicate Basic Azimuth

　　８　Ｌ　１４１．４２１　　ＥＸＥ　　　　　　　　　Indicate Basic Length

　　９　－Ｒ＋　　　　　　　　１００．０００　ＥＸＥ　Input Radius

　 10 　X 　  100.000 　　　　ＥＸＥ　　　　　　　　　Indicate CE. X Coordinate

　 11 　Y 　  100.000   　　　ＥＸＥ　　　　　　　　　Indicate CE. Y Coordinate

　１２　ＣＬ　　　　　　　　　１０　　ＥＸＥ　　　　　Input Curve Length

　 13 　X 　   90.017   　　　ＥＸＥ　　　　　　　　　Indicate INT.X Coordinate

　 14 　Y       0.500 　　  　ＥＸＥ　　　　　　　　　Indicate INT.Y Coordinate

　１５　ＣＬ　　　　　　　　　　　　　　　　　　　　　Input Curve Length

　 　P 8 :　2 Angles Intersection Calculation

　　　　  We can get coordinates from 2 known angles（Ａ，Ｂ）.

　　　Basic point 1 --- Angle Ａ

  　　Basic point 1 --- Angle Ｂ

　

　　      Object point is made right hand side of basic points 1 ---> 2.

　　　　　　　　　　　　　　　（２）。

　　　　　　　　　　　　　　　　　　　　

　　　　　　　　　　　　　　　　　　　Ｂ　　　。Object point

　　　　　　　　　　　　　　　　　　　Ａ　　

　　　　　　　　　　　　　　　（１）。

　　　　　　　　・・・・・　Memory table　・・・・・・・　

　　　　　　　　Ｍ　81：Ｘ１ Coordinate　Ｍ　96：Angle ［Ａ］　

　　　　　　　　Ｍ　82：Ｙ１ Coordinate　Ｍ　97：Angle ［Ｂ］　　

　　　　　　　　Ｍ　83：Ｘ２ Coordinate　Ｍ　8F：Ｘ Coordinate

　　　　　　　　Ｍ　84：Ｙ２ Coordinate　Ｍ　9F：Ｙ Coordinate

　　　　　　・・・・・・・　　Example　　・・・・・・・

　　　　　　Ｘ１＝１００．０００　　　Ｙ１＝１００．０００

　　　　　　Ｘ２＝３５０．０００　　　Ｙ２＝２５０．０００

　　　　　　Ａ　＝３６゜４４’３５”　Ｂ　＝８３゜１５’２５”

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　SHIFT Ｐ８

　　２　2 Angles              　　　　ＥＸＥ　　　　　Indicate Title

　　３　Ｘ１　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｘ１ Coordinate

　　４　Ｙ１　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｙ１ Coordinate

　　５　Ｘ２　　　　　　　　　３５０　ＥＸＥ　　　　　Input Ｘ２ Coordinate

　　６　Ｙ２　　　　　　　　　２５０　ＥＸＥ　　　　　Input Ｙ２ Coordinate

　　７　ＡＺ　 59゜02’10.48”        ＥＸＥ　　　　　Indicate Basic Azimuth

　　８　Ｌ　２９１．５４８　　ＥＸＥ　　　　　　　　　Indicate Basic Length

　　９　Ａ　　　　　　　　　　３６．４４３５　ＥＸＥ　Input Angle（Ａ）

　１０　Ｂ　　　　　　　　　　８３．１５２５　ＥＸＥ　Input Angle（Ｂ）

　１１　ＡＺ　 95゜46’45.48”        ＥＸＥ　　　　　Indicate Azimuth

　 12 　X 　  432.622     　　ＥＸＥ　　　　　　　　　Indicate X Coordinate

　 13 　Y 　   66.335     　　ＥＸＥ　　　　　　　　　Indicate Y Coordinate

　１４　Ａ　　　　　　　　　　　　　　　　　　　　　  Input Angle(Ａ)

  　 P 9 :　2 Lengths Intersection Calculation

　　　　  We can get coordinates from 2 known radius（ａ，ｂ）.

　　　Basic point 1 --- Radius ａ

  　　Basic point 1 --- Radius ｂ

　

　　      Object point is made right hand side of basic points 1 ---> 2.

　　　　　　　　　　　　　　　（２）。

　　　　　　　　　　　　　　　　　　　　ｂ

　　　　　　　　　　　　　　　　　　　　　　。Object point

　　　　　　　　　　　　　　　　　　　　　ａ

　　　　　　　　　　　　　　　（１）。

　　　　　　　　・・・・・　Memory table　・・・・・・・　

　　　　　　　　Ｍ　81：Ｘ１ Coordinate　Ｍ　98：Radius［ａ］

　　　　　　　　Ｍ　82：Ｙ１ Coordinate　Ｍ　99：Radius［ｂ］

　　　　　　　　Ｍ　83：Ｘ２ Coordinate　Ｍ　8F：Ｘ Coordinate

　　　　　　　　Ｍ　84：Ｙ２ Coordinate　Ｍ　9F：Ｙ Coordinate

　　　　　　・・・・・・・　　Example　　・・・・・・・

　　　　　　Ｘ１＝１００．０００　　　Ｙ１＝１００．０００

　　　　　　Ｘ２＝３５０．０００　　　Ｙ２＝２５０．０００

　　　　　　　ａ＝３３４．３２２　　　　ｂ＝２０１．３９３

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　SHIFT Ｐ９

　　２　2 Lengths               　　　ＥＸＥ　　　　　Indicate Title

　　３　Ｘ１　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｘ１ Coordinate

　　４　Ｙ１　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｙ１ Coordinate

　　５　Ｘ２　　　　　　　　　３５０　ＥＸＥ　　　　　Input Ｘ２ Coordinate

　　６　Ｙ２　　　　　　　　　２５０　ＥＸＥ　　　　　Input Ｙ２ Coordinate

　　７　ＡＺ　  59゜02’10.48”       ＥＸＥ　　　　　Indicate Basic Azimuth

　　８　Ｌ　２９１．５４８　　ＥＸＥ　　　　　　　　　Indicate Basic Length

　　９　ａ　　　　　　　　　　３３４．３２２　ＥＸＥ　Input Radius（ａ）

　１０　ｂ　　　　　　　　　　２０１．３９３　ＥＸＥ　Input Radius（ｂ）

　１１　ＡＺ　  95゜46’45.01”       　　　　ＥＸＥ　Indicate Azimuth

　 12 　X 　   432.623    　　ＥＸＥ　　　　　　　　　Indicate X Coordinate

　 13 　Y　     66.336    　　ＥＸＥ　　　　　　　　　Indicate Y Coordinate

　１４　ａ　　　　　　　　　　　　　　　　　　　　　  Input Radius(ａ)

　　 P10 :　Perpendicular Calculation

　　　　  We can get the perpendicular length from 3 known points. 

           　　　ーｈ＋：　Right High is + ( plus ) of basic line.

                           Left High is - ( minus ) of basic line.

　　           　　Ｌ　：　+    Order    ( 1  --->  2 )

　　　　　　　　　　       -    Opposite ( 1  --->  2 )

　　　　　　　　　　　　　　　（２）。

　　　　　　　　　　　　　　　　　　　　　

　　　　　　　　　　　　　　　　　　　　　　。（３）

　　　　　　　　　　　　　　　　　　　　　　

　　　　　　　　　　　　　　　（１）。

　　　　　　　　・・・・・　Memory table　・・・・・・・

　　　　　　　　Ｍ　81：Ｘ１ Coordinate　Ｍ　85：Ｘ３ Coordinate

　　　　　　　　Ｍ　82：Ｙ１ Coordinate  Ｍ　86：Ｙ３ Coordinate

　　　　　　　　Ｍ　83：Ｘ２ Coordinate　Ｍ　3F：ーｈ＋

　　　　　　　　Ｍ　84：Ｙ２ Coordinate　Ｍ　4F：Ｌ

　　　　　　・・・・・・・　　Example　　・・・・・・・

　　　　　　　Ｘ１＝１００．０００　Ｙ１＝１００．０００

　　　　　　　Ｘ２＝３５０．０００　Ｙ２＝２５０．０００

　　　　　　　Ｘ３＝２２６．８２４　Ｙ３＝４０９．３３２

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　　　　Ｐ１０

　　２　Perpendicular             　　ＥＸＥ　　　　　Indicate Title

　　３　Ｘ１　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｘ１ Coordinate

　　４　Ｙ１　　　　　　　　　１００　ＥＸＥ　　　　　Input Ｙ１ Coordinate

　　５　Ｘ２　　　　　　　　　３５０　ＥＸＥ　　　　　Input Ｘ２ Coordinate

　　６　Ｙ２　　　　　　　　　２５０　ＥＸＥ　　　　　Input Ｙ２ Coordinate

　　７　ＡＺ　  59゜02’10.48”       ＥＸＥ　　　　　Indicate Basic Azimuth

　　８　Ｌ　２９１．５４８　　ＥＸＥ　　　　　　　　　Indicate Basic Length

　　９　Ｘ３　　　　　　　　　２２６．８２４　ＥＸＥ　Input Ｘ３ Coordinate

　１０　Ｙ３　　　　　　　　　４０９．３３２　ＥＸＥ　Input Ｙ３ Coordinate

　１１　ーｈ＋　　　　　　　　  -200.000      ＥＸＥ　Indicate High

　１２　Ｌ　　　　　　　　　　２６７．９０１　ＥＸＥ　Indicate Plane Length

　１４　Ｘ３　　　　　　　　　　　　　　　　　　　　　Input Ｘ３ Coordinate

     P11 :　Vertical Calculation

　　　　  We can get correct vertical from right vertical and left vertical.

　　　　　　　　　　　・・　Memory table　・・　

　　　　　　　　　　　Ｍ　96：Vertical Right［Ｖｒ］　　

　　　　　　　　　　　Ｍ　97：Vertical Left ［Ｖｌ］　　

　　　　　　　　　　　・・　　Example　　・・

　　　　　　　　　　　Ｖｒ＝　９４゜１３’５３”　

　　　　　　　　　　　Ｖｌ＝２６５゜４６’４９”　

 ・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　　　　Ｐ１１

　　２　Vertical        　　　ＥＸＥ　　　　　　　　　Indicate Title

　　３　Ｖｒ　　　　　　　　　９４．１３５３　ＥＸＥ　Input Vertical Right

　　４　Ｖｌ　　　　　　　　２６５．４６４９　ＥＸＥ　Input Vertical Left

　　５　３６０゜０’４２”　　ＥＸＥ　　　　　　　　　Indicate Total Vertical

　　６　　　０゜０’４２”　　ＥＸＥ　　　　　　　　　Indicate Error

　　７　１８８゜２７’４”　　ＥＸＥ　　　　　　　　　Indicate Ｖｒ－Ｖｌ

　　８　　９４゜１３’３２”　ＥＸＥ　　　　　　　　　Indicate Ｚ

　　９　　－４゜１３’３２”　ＥＸＥ　　　　　　　　　Indicate α

　１０　Ｖｒ　　　　　　　　　　　　　　　　　　　　　Input Vertical Right

     P12 :　WILD Atmospher Distance Correction

　　　　  We can get a correct distance.

                  Basic Elevation   -----    0 m

                  Basic Temperature -----   10ﾟC

　　　　　　　・・・・・　Memory table  ・・・・・・・　

　　　　　　　　Ｍ　91：GH Grand High 　   Ｍ　5F：V  Vertical

　　　　　　　　Ｍ　92：IH Instrument High Ｍ　81：L 1 Slope Length

　　　　　　　　Ｍ　93：FH Target High 　　Ｍ　82：L 2 Slope Length

　　　　　　　　Ｍ　94：Temperature        Ｍ　83：L 3 Slope Length

　　　　　　・・・・・・・　　Example　　・・・・・・・

　　            　GH = 500.000          Tem= 20ﾟC

　　　            FH = 0.250            L 1= 1000.001

　　　            V  = + 1ﾟ14'25"       L 2= 1000.002

                  IH = 1.500            L 3= 1000.003

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　　　　Ｐ１２

　　２　WILD Atmospher                  ＥＸＥ　　　　Indicate Title

　　３　GH  　　　　　　　　　500       ＥＸＥ　　　　Input Grand High

　　４　IH   　　　　　　　　 1.5       ＥＸＥ　　　　Input Instrument High

　　５　FH  　　　　　　　　　0.25  　  ＥＸＥ　　　　Input Target High

　　６　Tem 　　　　　　　　　20    　  ＥＸＥ　　　　Input Temperature

　　７　V                     1.1425    ＥＸＥ  　　　Input Vertical

　　８　L 1                   1000.001  ＥＸＥ　　　　Input Slope Length 1

　　９　L 2                   1000.002  ＥＸＥ　　　　Input Slope Length 2

  １０  L 3                   1000.003  ＥＸＥ　　　　Input Slope Length 3

　１１　Σ　　　　　　　　　　3000.006  ＥＸＥ        Indicate Total Length

　１２　AL                    1000.0020 ＥＸＥ        Indicate Average Length

　１３　*                        2.39   ＥＸＥ        Indicate a coefficient

　１４　d               　       0.0239 ＥＸＥ        Indicate Correct

　１５　D0                    1000.0259 ＥＸＥ　　　　Indicate Correct Length

  １６　GH　　　　　　　　　　　　　　　　　　　　　　Input Grand High

     P13 :　Distance Calculation

　　　　  We can get a correct distance.

                  Radius of the earth --- 6,377,397.155 m

                  Scale coefficient   ---         0.9999

　　　　　　　　・・・・・　Memory table　・・・・・・・　

　　　　　　　　Ｍ　90：D0 Slope Length 　Ｍ　91：GH Grand High

　　　　　　　　Ｍ　87：V1 Vertical 　    Ｍ　92：IH Instrument High

　　　　　　　　Ｍ　88：V2 Vertical     　Ｍ　93：FH Target High

　　　　　　　　Ｍ　5F：V  Vertical       Ｍ　98：Radius of the earth

　　　　　　　　                          Ｍ　99：Scale coefficient

　　　　　　・・・・・・・　　Example　　・・・・・・・

　　　　　　　　　D0 = 1000.0259        IH = 1.500

                  V1 = + 4ﾟ13'30"       FH = 0.250

　　            　V2 = - 4ﾟ13'34"       K  = 0.9999

                  GH =  500.000

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　　　　Ｐ１３

　　２　Distance                      ＥＸＥ　　　　　Indicate Title

　　３　D0  　　　　　　　　　1000.0259 ＥＸＥ　　　　Input Slope Length

　　４　V1   　　　　　　　　 4.1330  ＥＸＥ　　　　　Input Vertical

　　５　V2  　　　　　　　　 -4.1334　ＥＸＥ　　　　　Input Vertical

　　６　V   　　　　　　　　　4ﾟ13'32" ＥＸＥ 　　　　Indicate Ave. Vertical

　　７　GH  　　　　　　　  　500     ＥＸＥ　　　　　Input Grand High

　　８　IH   　　　　　　　  　 1.5   ＥＸＥ　　　　　Input Instrument High

　　９　FH  　　　　　　　　　  0.25　ＥＸＥ　　　　　Input Target High

　１０　dH  　　　　　　　　 　73.685 ＥＸＥ　　　　　Indicate Different High

　１１　EL                    574.935 ＥＸＥ　　　　　Indicate Elevation

　１２　AH                    537.468 ＥＸＥ　　　　　Indicate Ave. Elevation

　１３　D                     997.3075 ＥＸＥ 　　　　Indicate L * COS V

  １４  d                      -0.0841 ＥＸＥ　　　　 Indicate projec. correct

　１５　S 　　　　　　　　　　997.2234 ＥＸＥ         Indicate Spher. Length

　１６　K                     0.9999  ＥＸＥ　        Input Scale coefficient

　１７　dK                   -0.0997  ＥＸＥ          Indicate Scale correct

　１８　L                     997.1237 ＥＸＥ         Indicate Plane Length

  １９　D0　　　　　　　　　　　　　　　　　　　　　　Input Slope Length

     P14 :　Stadia Calculation 1  ［ Elevetion , Distance ］

          Stadia a coefficient K ---- 100

          Stadia a coefficient C ----   0

　　　　　　　　・・・・・　Memory table　・・・・・・・　

　　　　　　　　Ｍ　91：EL Elevation　     Ｍ　87：S1 Under(Upper) Stadia

　　　　　　　　Ｍ　92：IH Instrument High Ｍ　88：S2 Upper(Under) Stadia

　　　　　　　　Ｍ　93：FH Target High 　　    Ｍ　94：L  Plane Length

　　　　　　　　Ｍ　5F：V  Vertical            Ｍ　3F：dH Different High

　　　　　　　　Ｍ　　：                       Ｍ　96：GH Grand High

                Ｍ　98：Stadia a coefficient K Ｍ　99：Stadia a coefficient C

　　　　　　・・・・・・・　　Example　　・・・・・・・

　　　　　　　　　EL = 500.000          V  = 89ﾟ14'25"

                  IH = 1.500            S1 = 1.230

　　            　FH = 2.895            S2 = 4.560

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　　　　Ｐ１４

　　２　Stadia 1                      ＥＸＥ　　　　　Indicate Title

　　３　EL  　　　　　　　　　500.000 ＥＸＥ  　　　　Input Elevation

　　４　IH   　　　　　　　  　 1.5   ＥＸＥ　　　　　Input Instrument High

　　５　FH  　　　　　　　　　  2.895 ＥＸＥ　　　　　Input Target High

　　６　V   　　　　　　　　　89.1425 ＥＸＥ  　　　　Input Vertical

　　７　S1  　　　　　　　  　 1.230  ＥＸＥ　　　　　Input Under(Upper) Stadia

　　８　S2  　　　　　　　  　 4.560  ＥＸＥ　　　　　Input Upper(Under) Stadia

　　９　L   　　　　　　　　　332.94　ＥＸＥ　　　　　Indicate Plane Length

　１０　dH  　　　　　　　　 　 3.02  ＥＸＥ　　　　　Indicate Different High

　１１　GH                    503.02  ＥＸＥ　　　　　Indicate Grand High

  １２　FH　　　　　　　　　　　　　　　　　　　　　　Input Target High

     P15 :　Stadia Calculation 2  ［ Elevation , Coordinates ］

          Stadia a coefficient K ---- 100

          Stadia a coefficient C ----   0

　　　　　　　　・・・・・　Memory table　・・・・・・・　

　　　　　　　　Ｍ　91：EL Elevation　         Ｍ　93：FH Target High

　　　　　　　　Ｍ　92：IH Instrument High     Ｍ　5F：V  Vertical

　　　　　　　　Ｍ　81：X1 Coordinate          Ｍ　87：S1 Under(Upper) Stadia

　　　　　　　　Ｍ　82：Y1 Coordinate          Ｍ　88：S2 Upper(Under) Stadia

　　　　　　　　Ｍ　83：X2 Coordinate          Ｍ　94：L  Plane Length

　　　　　　　　Ｍ　84：Y2 Coordinate          Ｍ　3F：dH Different High

　　　　　　　　Ｍ　　： 　　                  Ｍ　96：GH Grand High

                Ｍ　98：Stadia a coefficient K Ｍ　99：Stadia a coefficient C

　　　　　　・・・・・・・　　Example　　・・・・・・・

　　　　　　　　　EL = 500.000          FH = 2.895

                  IH = 1.500            V  = 89ﾟ14'25"

                  X1 = 0.000            S1 = 1.230

　　            　Y1 = 0.000            S2 = 4.560

                  X2 = 100.000          HA = 90ﾟ0'0"

                  Y2 = 100.000

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　　　　Ｐ１５

　　２　Stadia 2                      ＥＸＥ　　　　　Indicate Title

　　３　EL  　　　　　　　　　500.000 ＥＸＥ  　　　　Input Elevation

　　４　IH   　　　　　　　  　 1.5   ＥＸＥ　　　　　Input Instrument High

　　５　X1  　　　　　　　　　  0.000 ＥＸＥ　　　　　Input X1 Coordinate

　　６　Y1  　　　　　　　　　  0.000 ＥＸＥ　　　　　Input Y1 Coordinate

　　７　X2  　　　　　　　　　100.000 ＥＸＥ　　　　　Input X2 Coordinate

　　８　Y2  　　　　　　　　　100.000 ＥＸＥ　　　　　Input Y2 Coordinate

　　９　AZ  　　　　　　　　　45ﾟ0'0" ＥＸＥ　　　　　Indicate Azimuth

　１０　L   　　　　　　　　　141.421 ＥＸＥ　　　　　Indicate Plane Length

　１１　FH  　　　　　　　　　  2.895 ＥＸＥ　　　　　Input Target High

　１２　V   　　　　　　　　　89.1425 ＥＸＥ  　　　　Input Vertical

　１３　S1  　　　　　　　  　 1.230  ＥＸＥ　　　　　Input Under(Upper) Stadia

　１４　S2  　　　　　　　  　 4.560  ＥＸＥ　　　　　Input Upper(Under) Stadia

　１５　L   　　　　　　　　　332.94　ＥＸＥ　　　　　Indicate Plane Length

　１６　dH  　　　　　　　　 　 3.02  ＥＸＥ　　　　　Indicate Different High

　１７　GH                    503.02  ＥＸＥ　　　　　Indicate Grand High

　１８　HA                    90.0000 ＥＸＥ　　　　　Input Horizontal Angle

　１９　AZ  　　　　　　　　 135ﾟ0'0" ＥＸＥ　　　　　Indicate Azimuth

　 20 　Y  　　　　　　　　　 235.43  ＥＸＥ　　　　　Indicate X Coordinate

　 21 　X   　　　　　　　　 -235.43  ＥＸＥ　　　　　Indicate Y Coordinate

  ２２　FH　　　　　　　　　　　　　　　　　　　　　　Input Target High

     P16 :　Stadia Calculation 3  ［ Reverse ］

          Stadia a coefficient K ---- 100

          Stadia a coefficient C ----   0

　　　　　　　　・・・・・　Memory table　・・・・・・・　

　　　　　　　　Ｍ　91：*EL Elevation          Ｍ　87：S1 Under(Upper) Stadia

　　　　　　　　Ｍ　92：*IH Instrument High    Ｍ　88：S2 Upper(Under) Stadia

　　　　　　　　Ｍ　93：*FH Target High      　Ｍ　94：L  Plane Length

　　　　　　　　Ｍ　5F：V   Vertical           Ｍ　3F：dH Different High

　　　　　　　　Ｍ　　：                       Ｍ　96：GH Grand High

                Ｍ　98：Stadia a coefficient K Ｍ　99：Stadia a coefficient C

　　　　　　・・・・・・・　　Example　　・・・・・・・

　　　　　　　　 *EL = 503.020          V  = 89ﾟ14'25"

                 *IH = 1.500            S1 = 1.230

　　             *FH = 2.895            S2 = 4.560

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　　　　Ｐ１６

　　２　Stadia 3                      ＥＸＥ　　　　　Indicate Title

　　３　*EL 　　　　　　　　　503.020 ＥＸＥ  　　　　Input Elevation

　　４　*IH  　　　　　　　  　 1.5   ＥＸＥ　　　　　Input Instrument High

　　５　*FH 　　　　　　　　　  2.895 ＥＸＥ　　　　　Input Target High

　　６　V   　　　　　　　　　89.1425 ＥＸＥ  　　　　Input Vertical

　　７　S1  　　　　　　　  　 1.230  ＥＸＥ　　　　　Input Under(Upper) Stadia

　　８　S2  　　　　　　　  　 4.560  ＥＸＥ　　　　　Input Upper(Under) Stadia

　　９　L   　　　　　　　　　332.94　ＥＸＥ　　　　　Indicate Plane Length

　１０　dH  　　　　　　　　 　-3.02  ＥＸＥ　　　　　Indicate Different High

　１１　GH                    500.00  ＥＸＥ　　　　　Indicate Grand High

　１２　STADIA 3                      ＥＸＥ　　　　　Indicate Title

　　 P17 :　Indirect Level Calculation 2  ( h,l ) ［ Elevation , Coordinates ］

　　　　  We can get radiation elevation and coordinates from survey high and

      plane length.

　　　    In case input ＭＨ（ Target High ） －（ Minus ）that point turnning

      point.

　　　    In case input ＩＨ（ Instrument High ） －（ Minus ）output

      coordinates.

 　　　・・・・・・・・・　Memory table　・・・・・・・・・

　　　Ｍ　91：EL Basic Elevation　　Ｍ　96：GH Grand High

　　　Ｍ　92：IH Instrument High  　Ｍ　81：X1 Coordinate

　　　Ｍ　93：MH Target High  　　　Ｍ　82：Y1 Coordinate

　　　Ｍ　1F：dh Survey High 　　   Ｍ　83：X2 Coordinate

      Ｍ　2F：dL Plane Length       Ｍ　84：Y2 Coordinate

　　　　　　・・・・・・　　Example　　・・・・・・

　　　　　　　　　EL = 500.000          X1 = 0.000

                  IH = 1.500            Y1 = 0.000

                  MH = 0.250　　　　　　X2 = 100.000

　　            　dh = 50.000 　　　　　Y2 = 100.000

                  dL = 100.000 　　　　 HA = 90ﾟ0'0"

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　      Ｐ１７

　　２　High 2 ( h,l )　　　　ＥＸＥ　　　　　　　　　Indicate Title

　　３　EL  　　　　　　　　　500.000   　ＥＸＥ　　　Input Basic Elevation

　　４　IH　　　　　　　　　    1.500   　ＥＸＥ　　　Input Instrument High

　　５　MH　　　　　　　　　    0.250   　ＥＸＥ　　　Input Target High

　　６　dh　　　　　　　　　　 50.000   　ＥＸＥ　　　Input Survey High

　　７　GH             　     551.250　   ＥＸＥ　　　Indicate Grand High

　１０　MH  　　　　　　　　　　　　　　　　　　　　　Input Target High

　　 P18 :　Indirect Level Calculation 3  ( S,V ) ［ Reverse ］

          We can get a unknown elevation from known elevation.

　　　　　　　　・・・・・　Memory table　・・・・・・・　

　　　　　　　　Ｍ　91：*EL Elevation       Ｍ　5F：V  Vertical

　　　　　　　　Ｍ　92： IH Instrument High Ｍ　94：L  Plane Length

　　　　　　　　Ｍ　93： MH Target High   　Ｍ　1F：DH Different High

　　　　　　　　Ｍ　90： S Slope Length     Ｍ　96：GH Grand High

　　　　　　・・・・・・・　　Example　　・・・・・・・

　　　　　　　　 *EL = 505.329          S  = 100.000

                  IH = 1.500            V  = 87ﾟ39'45"

　　              MH = 0.250

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　　　　Ｐ１８

　　２　High 3 ( S,V )                ＥＸＥ　　　　　Indicate Title

　　３　*EL 　　　　　　　　　505.329 ＥＸＥ  　　　　Input Elevation

　　４　IH   　　　　　　　  　 1.5   ＥＸＥ　　　　　Input Instrument High

　　５　MH  　　　　　　　　　  0.25　ＥＸＥ　　　　　Input Target High

　　６　S  　　　　　　　  　 100.000 ＥＸＥ　　　　　Input Slope Length

　　７　V   　　　　　　　　　87.3945 ＥＸＥ  　　　　Input Vertical

　　８　L  　　　　　　　  　 99.917  ＥＸＥ　　　　　Indicate Plane Length

　　９　DH  　　　　　　　　　-5.329　ＥＸＥ　　　　　Indicate Different High

　１０　GH                    500.000 ＥＸＥ　　　　　Indicate Grand High

　１２　HIGH 3 ( S,V )                ＥＸＥ　　　　　Indicate Title

　　 P19 :　Indirect Level Calculation 4  ( dh )  ［ Reverse ］

          We can get a unknown elevation from known elevation.

　　　　　　　　・・・・・　Memory table　・・・・・・・　

　　　　　　　　Ｍ　91：*EL Elevation       Ｍ　1F：dh Survey High

　　　　　　　　Ｍ　92： IH Instrument High Ｍ　2F：DH Different High

　　　　　　　　Ｍ　93： MH Target High   　Ｍ　96：GH Grand High

　　　　　　・・・・・・・　　Example　　・・・・・・・

　　　　　　　　 *EL = 451.250          MH = 0.250

                  IH = 1.500            dh = -50.000

・・・・・・・・・・・・・　Operaion Process　・・・・・・・・・・・・・・

   Step     Indication            Key                     Remarks

　　１　　　　　　　　　　　　Ｐ１９

　　２　High 4 ( dh )                 ＥＸＥ　　　　　Indicate Title

　　３　*EL 　　　　　　　　　451.250 ＥＸＥ  　　　　Input Elevation

　　４　IH   　　　　　　　  　 1.5   ＥＸＥ　　　　　Input Instrument High

　　５　MH  　　　　　　　　　  0.25　ＥＸＥ　　　　　Input Target High

　　６　dh  　　　　　　　  　-50.000 ＥＸＥ　　　　　Input Survey High

　　７　DH  　　　　　　　　　 48.750 ＥＸＥ　　　　　Indicate Different High

　　８　GH                    500.000 ＥＸＥ　　　　　Indicate Grand High

　　９　HIGH 4 ( dh )                 ＥＸＥ　　　　　Indicate Title

　Main attentions for using programs.

  　　・　Usualy Instrument point must be thought mainly.

　　　　　　　　Ｘ１，Ｙ１　・・・・　Instrument point Coordinates

　　　　　　　　Ｘ２，Ｙ２　・・・・　Back point Coordinates

　　　　　　　　Azimuth 　　・・・・　Azimuth toward Instrument to back point

　　　・　   In case input 2 known points coordinates( Ｘ１,Ｙ１・Ｘ２,Ｙ２ ),

          first those programs calculate Reverse Calculation and indicate 

          Length and Azimuth after that calculate for the Program.

　　　　　   In case input Ｘ２ = Azimuth ( Outer Azimuth ),

          we can calculate Azimuth is used input Ｙ２ = ０(Zero).

　　　　　   If Ｙ２ is ０（Zero）, we must input a dummy （０．００００１）

          in the Ｙ２.

　　　・   　As vertical correspnd to two kinds（Horizontal ０゜，９０゜）,

          we can't use +- vertical instrument.

　　　・　Input Angle（Inner・Vertical）ＯＯＯ．ＯＯＯＯＥＸＥ

　　　　　　　　　　　　　　　　　　　（　　 D　　 M　 S　）

［　Example　］

　　　　　　　　　   　　。（３）　　　。（２）

　　　　　　　　（１）　。

　Ｘ１＝１００．０００　Ｙ１＝１００．０００　Angle 1 ＝３６゜４４’３５”

　Ｘ２＝３５０．０００　Ｙ２＝２５０．０００　Angle 2 ＝８３゜１５’２５”

　Ｘ３＝２２６．８２４　Ｙ３＝４０９．３３２　Angle 3 ＝６０゜００’００”

　Ｌ（１－２）＝２９１．５４８　　Azimuth（１－２）＝  　59゜02’10”

　Ｌ（２－３）＝２０１．３９３　　Azimuth（２－３）＝   322゜17’36”

　Ｌ（３－１）＝３３４．３２1 　　Azimuth（３－１）＝   202゜17’36”

　　　　CASIO FX-603P  Survey Program ( Internatinal DEGREE )

                 601   Ver. 1.01  ( 603P601I )

　　　　　　　　　　　  991 STEPS FREE

                      14850 bytes

                      Coded by Toshio KAWAGUCHI NIFTY-Serve ID:KHF00050

All Program List

P0

AC DEG "Reverse" HLT

MR81 "X1" HLT

Min81 MR82 "Y1" HLT

Min82 

LBL1 MR83 "X2" HLT

Min83 Min89 MR84 "Y2" HLT

Min84 MR84 - MR82 ) R>P ( MR83 - MR81 = Min6F Min00 X<>Y X>=0 GOTO2

+ 360 =

LBL2 Min7F MinF "AZ" SDMS HLT

MR6F FIX3 "L" HLT

GOTO1

P1

AC DEG "Traverse" HLT

MR81 "X1" HLT

Min81 MR82 "Y1" HLT

Min82 MR83 "X2" HLT

Min83 Min89 MR84 "Y2" HLT

Min84 X=0 GOTO2

MR84 - MR82 ) R>P ( MR83 - MR81 = Min6F Min00 X<>Y X>=0 GOTO1

+ 360 =

LBL1 Min7F MinF "AZ" SDMS HLT

MR6F FIX3 "L" HLT

GOTO3

LBL2 MR89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min7F MinF 

LBL3 MR97 "HA" HLT

Min97 ABS Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min00 MR94 "L" HLT

Min94 X>=0 GOTO5

ABS Min90 90 Min89 "V" HLT

Min5F ABS Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min95 COS * MR90 = Min3F MR95 SIN * MR90 = Min4F Min94 MR5F X>=0 GOTO4

MR3F Min94 

LBL4 MR94 FIX3 "L" HLT

LBL5 MR00 + MRF - 360 Min95 =

LBL6 X>=0 GOTO7

+ MR95 = GOTO6

LBL7 Min95 "AZ" SDMS HLT

MR95 SIN * MR94 = Min3F MR95 COS * MR94 = Min4F + MR82 = Min9F MR3F + MR81 = Min8F FIX3 "X" HLT

MR9F FIX3 "Y" HLT

MR97 X>=0 GOTO3

MR8F Min81 MR9F Min82 MR95 - 180 = MinF GOTO3

P2

AC DEG "Inter Point" HLT

MR81 "X1" HLT

Min81 MR82 "Y1" HLT

Min82 MR83 "X2" HLT

Min83 Min89 MR84 "Y2" HLT

Min84 X=0 GOTO2

MR84 - MR82 ) R>P ( MR83 - MR81 = Min6F Min00 X<>Y X>=0 GOTO1

+ 360 =

LBL1 Min7F MinF "AZ" SDMS HLT

MR6F FIX3 "L" HLT

GOTO3

LBL2 MR89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min7F MinF 

LBL3 MR81 Min1F MR82 Min2F MR7F MinF AC "L" HLT

Min94 MRF - 360 Min95 =

LBL4 X>=0 GOTO5

+ MR95 = GOTO4

LBL5 Min95 "AZ" SDMS HLT

MR95 SIN * MR94 = Min3F MR95 COS * MR94 = Min4F + MR2F = Min9F MR3F + MR1F = Min8F FIX3 "X" HLT

MR9F FIX3 "Y" HLT

MR8F Min1F MR9F Min2F MRF + 90 = MinF 

LBL6 AC "-:+" HLT

Min94 X=0 GOTO3

MRF - 360 Min95 =

LBL7 X>=0 GOTO8

+ MR95 = GOTO7

LBL8 Min95 "AZ" SDMS HLT

MR95 SIN * MR94 = Min3F MR95 COS * MR94 = Min4F + MR2F = Min9F MR3F + MR1F = Min8F FIX3 "X" HLT

MR9F FIX3 "Y" HLT

GOTO6

P3

AC DEG "4[MUL]" HLT

LBL1 MR81 "X1" HLT

Min81 MR82 "Y1" HLT

Min82 MR83 "X2" HLT

Min83 MR84 "Y2" HLT

Min84 MR85 "X3" HLT

Min85 MR86 "Y3" HLT

Min86 MR87 "X4" HLT

Min87 MR88 "Y4" HLT

Min88 MR84 - MR82 ) / ( MR83 - MR81 = Min3F MR88 - MR86 ) / ( MR87 - MR85 = Min4F * MR85 - MR3F * MR81 + MR82 - MR86 = / ( MR4F - MR3F = Min8F - MR81 ) * MR3F + MR82 = Min9F MR8F FIX3 "X" HLT

MR9F FIX3 "Y" HLT

GOTO1

P4

AC DEG "S[RTA]L" HLT

MR00 "L0" HLT

Min00 

LBL1 MR5F "V" HLT

Min5F ABS Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min95 MR90 "S" HLT

ABS Min90 MR95 COS * MR90 = Min3F MR95 SIN * MR90 = Min4F Min94 MR5F X>=0 GOTO2

MR3F Min94 

LBL2 MR94 FIX3 "L" HLT

MR00 X=0 GOTO1

- MR94 = FIX3 "d" HLT

GOTO1

P5

AC DEG "Angle" HLT

MR81 "X1" HLT

Min81 MR82 "Y1" HLT

Min82 MR83 "X2" HLT

Min83 Min89 MR84 "Y2" HLT

Min84 X=0 GOTO2

MR84 - MR82 ) R>P ( MR83 - MR81 = Min6F Min00 X<>Y X>=0 GOTO1

+ 360 =

LBL1 Min7F MinF "AZ" SDMS HLT

MR6F FIX3 "L" HLT

GOTO3

LBL2 MR89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min7F MinF 

LBL3 MR85 "X3" HLT

Min85 MR86 "Y3" HLT

Min86 MR86 - MR82 ) R>P ( MR85 - MR81 = Min00 X<>Y - MR7F =

LBL4 X>=0 GOTO5

+ 360 = GOTO4

LBL5 MinF "ANG" SDMS HLT

MR00 FIX3 "L" HLT

GOTO3

P6

AC DEG "High 1 ( S,V )" HLT

MR91 "EL" HLT

Min91 MR92 "IH" HLT

Min92 X>=0 GOTO3

MR81 "X1" HLT

Min81 MR82 "Y1" HLT

Min82 MR83 "X2" HLT

Min83 Min89 MR84 "Y2" HLT

Min84 X=0 GOTO2

MR84 - MR82 ) R>P ( MR83 - MR81 = Min6F Min00 X<>Y X>=0 GOTO1

+ 360 =

LBL1 Min7F MinF "AZ" SDMS HLT

MR6F FIX3 "L" HLT

GOTO3

LBL2 MR89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min7F MinF 

LBL3 MR93 "MH" HLT

Min93 MR90 "S" HLT

ABS Min90 MR5F "V" HLT

Min5F ABS Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min95 COS * MR90 = Min3F MR95 SIN * MR90 = Min4F Min94 MR5F X>=0 GOTO4

MR3F Min94 

LBL4 MR94 FIX3 "L" HLT

MR5F X>=0 GOTO5

MR4F Min3F 

LBL5 MR3F + MR92 ABS - MR93 ABS + MR91 = Min96 FIX3 "GH" HLT

MR92 X>=0 GOTO8

MR97 "HA" HLT

Min97 ABS Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = + MRF - 360 Min95 =

LBL6 X>=0 GOTO7

+ MR95 = GOTO6

LBL7 Min95 "AZ" SDMS HLT

MR95 SIN * MR94 = Min3F MR95 COS * MR94 = Min4F + MR82 = Min9F MR3F + MR81 = Min8F FIX3 "X" HLT

MR9F FIX3 "Y" HLT

MR93 X>=0 GOTO3

MR8F Min81 MR9F Min82 MR95 - 180 = MinF 

LBL8 MR93 X>=0 GOTO3

MR96 Min91 MR92 "IH" HLT

Min92 GOTO3

P7

AC DEG "Simple Curve" HLT

MR81 "X1" HLT

Min81 MR82 "Y1" HLT

Min82 MR83 "X2" HLT

Min83 Min89 MR84 "Y2" HLT

Min84 X=0 GOTO2

MR84 - MR82 ) R>P ( MR83 - MR81 = Min6F Min00 X<>Y X>=0 GOTO1

+ 360 =

LBL1 Min7F MinF "AZ" SDMS HLT

MR6F FIX3 "L" HLT

GOTO3

LBL2 MR89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min7F MinF 

LBL3 MR97 "-R+" HLT

Min97 MR6F / 2 / MR97 ) ACS + MR7F = Min5F SIN * MR97 = Min3F MR5F COS * MR97 = Min4F + MR82 = Min2F Min9F MR3F + MR81 = Min1F Min8F FIX3 "RX" HLT

MR9F FIX3 "RY" HLT

LBL4 MR98 "CL" HLT

Min98 X=0 GOTO3

* 180 / PI / MR97 = Min00 + MR5F - 180 = MinF SIN * MR97 = Min3F MRF COS * MR97 = Min4F + MR2F = Min9F MR3F + MR1F = Min8F FIX3 "X" HLT

MR9F FIX3 "Y" HLT

GOTO4

P8

AC DEG "2 Angles" HLT

MR81 "X1" HLT

Min81 MR82 "Y1" HLT

Min82 MR83 "X2" HLT

Min83 Min89 MR84 "Y2" HLT

Min84 X=0 GOTO2

MR84 - MR82 ) R>P ( MR83 - MR81 = Min6F Min00 X<>Y X>=0 GOTO1

+ 360 =

LBL1 Min7F MinF "AZ" SDMS HLT

MR6F FIX3 "L" HLT

GOTO3

LBL2 MR89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min7F MinF 

LBL3 MR96 "A" HLT

Min96 Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min98 + MR7F = MinF MR97 "B" HLT

Min97 Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min99 +/- + 180 = X>=0 GOTO4

+ 180 = Min99 

LBL4 MR99 +/- + 180 - MR98 = Min5F MR6F * MR99 SIN / MR5F SIN = Min94 MRF - 360 Min95 =

LBL5 X>=0 GOTO6

+ MR95 = GOTO5

LBL6 Min95 "AZ" SDMS HLT

MR95 SIN * MR94 = Min3F MR95 COS * MR94 = Min4F + MR82 = Min9F MR3F + MR81 = Min8F FIX3 "X" HLT

MR9F FIX3 "Y" HLT

GOTO3

P9

AC DEG "2 Lengths" HLT

MR81 "X1" HLT

Min81 MR82 "Y1" HLT

Min82 MR83 "X2" HLT

Min83 Min89 MR84 "Y2" HLT

Min84 X=0 GOTO2

MR84 - MR82 ) R>P ( MR83 - MR81 = Min6F Min00 X<>Y X>=0 GOTO1

+ 360 =

LBL1 Min7F MinF "AZ" SDMS HLT

MR6F FIX3 "L" HLT

GOTO3

LBL2 MR89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min7F MinF 

LBL3 MR98 "a" HLT

Min94 Min98 MR99 "b" HLT

Min99 ( ( MR98 X^2 + MR6F X^2 - MR99 X^2 ) / ( 2 * MR98 * MR6F ) ) ACS Min5F + MR7F = MinF - 360 Min95 =

LBL4 X>=0 GOTO5

+ MR95 = GOTO4

LBL5 Min95 "AZ" SDMS HLT

MR95 SIN * MR94 = Min3F MR95 COS * MR94 = Min4F + MR82 = Min9F MR3F + MR81 = Min8F FIX3 "X" HLT

MR9F FIX3 "Y" HLT

GOTO3

P10

AC DEG "Perpendicular" HLT

MR81 "X1" HLT

Min81 MR82 "Y1" HLT

Min82 MR83 "X2" HLT

Min83 Min89 MR84 "Y2" HLT

Min84 X=0 GOTO2

MR84 - MR82 ) R>P ( MR83 - MR81 = Min6F Min00 X<>Y X>=0 GOTO1

+ 360 =

LBL1 Min7F MinF "AZ" SDMS HLT

MR6F FIX3 "L" HLT

GOTO3

LBL2 MR89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min7F MinF 

LBL3 MR85 "X3" HLT

Min85 MR86 "Y3" HLT

Min86 MR86 - MR82 ) R>P ( MR85 - MR81 = Min00 X<>Y - MR7F =

LBL4 X>=0 GOTO5

+ 360 = GOTO4

LBL5 MinF SIN * MR00 = Min3F MRF COS * MR00 = Min4F MR3F FIX3 "-h+" HLT

MR4F FIX3 "L" HLT

GOTO3

P11

AC DEG "Vertical" HLT

LBL1 MR96 "Vr" HLT

Min96 Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min98 MR97 "Vl" HLT

Min97 Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min99 - MR98 = X>=0 GOTO2

MR98 Min95 MR99 Min98 MR95 Min99 

LBL2 MR98 + MR99 ) "T" SDMS HLT

- 360 = "e" SDMS HLT

MR98 - MR99 = Min5F X>=0 GOTO3

+ 360 = Min5F 

LBL3 "Vr-Vl" SDMS HLT

/ 2 = "Z" SDMS HLT

+/- + 90 = Min5F "V" SDMS HLT

GOTO1

P12

AC DEG "Wild Atmospher" HLT

LBL1 MR91 "GH" HLT

Min91 MR92 "IH" HLT

Min92 MR93 "FH" HLT

Min93 MR94 "Tem" HLT

Min94 - 30 = Min95 MR5F "V" HLT

Min5F INT + ( MR5F FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min7F MR81 "L1" HLT

Min81 MR82 "L2" HLT

Min82 MR83 "L3" HLT

Min83 MR81 + MR82 + MR83 = Min84 FIX3 "[SGM]" HLT

/ 3 = Min90 FIX4 "AL" HLT

* MR7F SIN / 2 + MR91 + MR92 - MR93 = * 0.003 + 1.7 + MR95 * 0.085 = Min85 * MR90 / 5 10^X = Min96 MR85 FIX2 "*" HLT

MR96 FIX4 "d" HLT

MR90 + MR96 = Min90 FIX4 "D0" HLT

GOTO1

P13

AC DEG "Distance" HLT

6377397.155 Min98 0.9999 Min99 

LBL0 MR90 "D0" HLT

Min90 1 Min87 0 "V1" HLT

Min94 Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min85 MR94 X>=0 GOTO1

1 +/- Min87 

LBL1 1 Min88 0 "V2" HLT

Min95 Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min86 MR95 X>=0 GOTO2

1 +/- Min88 

LBL2 MR94 X=0 GOTO3

MR95 X=0 GOTO4

GOTO5

LBL3 MR86 Min5F GOTO6

LBL4 MR85 Min5F GOTO6

LBL5 ( MR85 ABS + MR86 ABS ) / 2 * MR87 = Min5F SDMS "V" HLT

LBL6 MR91 "GH" HLT

Min91 MR92 "IH" HLT

Min92 MR93 "FH" HLT

Min93 MR90 P>R MR5F = Min83 X<>Y Min84 MR94 X=0 GOTO7

MR84 FIX3 "dH" HLT

+ MR92 - MR93 + MR91 = Min96 FIX3 "EL" HLT

+ MR91 ) / 2 = Min97 MR95 X=0 GOTO8

MR97 FIX3 "AH" HLT

MR94 X=0 GOTO7

MR95 X=0 GOTO8

MR97 +/- * MR83 = Min82 GOTO9

LBL7 MR91 +/- * MR83 = Min82 GOTO9

LBL8 MR96 +/- * MR83 = Min82 

LBL9 MR83 FIX4 "D" HLT

MR82 / MR98 = FIX4 "d" HLT

+ MR83 = Min81 FIX4 "S" HLT

MR99 "K" HLT

Min99 - 1 ) * MR81 = FIX4 "dK" HLT

+ MR81 = Min00 FIX4 "L" HLT

GOTO0

P14

AC DEG "Stadia 1" HLT

100 Min98 0 Min99 MR91 "EL" HLT

Min91 MR92 "IH" HLT

Min92 

LBL1 MR93 "FH" HLT

Min93 MR5F "V" HLT

Min5F MR87 "S1" HLT

Min87 X>=0 GOTO2

MR87 ABS Min90 GOTO3

LBL2 MR88 "S2" HLT

Min88 - MR87 = ABS Min90 

LBL3 MR5F ABS Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min85 MR5F X>=0 GOTO4

GOTO6

LBL4 180 - MR89 = X>=0 GOTO5

MR85 - 270 = Min85 GOTO6

LBL5 90 - MR85 = Min85 

LBL6 MR98 * MR90 * MR85 COS X^2 + MR99 * MR85 COS = Min94 MR98 * MR90 * MR85 SIN * MR85 COS + MR99 * MR85 SIN + MR92 - MR93 = Min3F + MR91 = Min96 MR94 FIX2 "L" HLT

MR3F FIX2 "dH" HLT

MR96 FIX2 "GH" HLT

GOTO1

P15

AC DEG "Stadia 2" HLT

100 Min98 0 Min99 MR91 "EL" HLT

Min91 MR92 "IH" HLT

Min92 MR81 "X1" HLT

Min81 MR82 "Y1" HLT

Min82 MR83 "X2" HLT

Min83 Min89 MR84 "Y2" HLT

Min84 X=0 GOTO2

MR84 - MR82 ) R>P ( MR83 - MR81 = Min6F Min00 X<>Y X>=0 GOTO1

+ 360 =

LBL1 Min7F MinF "AZ" SDMS HLT

MR6F FIX3 "L" HLT

GOTO3

LBL2 MR89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min7F MinF 

LBL3 MR93 "FH" HLT

Min93 MR5F "V" HLT

Min5F MR87 "S1" HLT

Min87 X>=0 GOTO4

MR87 ABS Min90 GOTO5

LBL4 MR88 "S2" HLT

Min88 - MR87 = ABS Min90 

LBL5 MR5F ABS Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min85 MR5F X>=0 GOTO6

GOTO8

LBL6 180 - MR89 = X>=0 GOTO7

MR85 - 270 = Min85 GOTO8

LBL7 90 - MR85 = Min85 

LBL8 MR98 * MR90 * MR85 COS X^2 + MR99 * MR85 COS = Min94 MR98 * MR90 * MR85 SIN * MR85 COS + MR99 * MR85 SIN + MR92 - MR93 = Min3F + MR91 = Min96 MR94 FIX2 "L" HLT

MR3F FIX2 "dH" HLT

MR96 FIX2 "GH" HLT

MR97 "HA" HLT

Min97 ABS Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = + MRF - 360 Min95 =

LBL9 X>=0 GOTO0

+ MR95 = GOTO9

LBL0 Min95 "AZ" SDMS HLT

MR95 SIN * MR94 = Min3F MR95 COS * MR94 = Min4F + MR82 = Min9F MR3F + MR81 = Min8F FIX2 "X" HLT

MR9F FIX2 "Y" HLT

GOTO3

P16

LBL1 AC DEG "Stadia 3" HLT

100 Min98 0 Min99 MR91 "*EL" HLT

Min91 MR92 "*IH" HLT

Min92 MR93 "*FH" HLT

Min93 MR5F "V" HLT

Min5F MR87 "S1" HLT

Min87 X>=0 GOTO2

MR87 ABS Min90 GOTO3

LBL2 MR88 "S2" HLT

Min88 - MR87 = ABS Min90 

LBL3 MR5F ABS Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min85 MR5F X>=0 GOTO4

GOTO6

LBL4 180 - MR89 = X>=0 GOTO5

MR85 - 270 = Min85 GOTO6

LBL5 90 - MR85 = Min85 

LBL6 MR98 * MR90 * MR85 COS X^2 + MR99 * MR85 COS = Min94 MR98 * MR90 * MR85 SIN * MR85 COS + MR99 * MR85 SIN + MR92 - MR93 = Min3F +/- + MR91 = Min96 MR94 FIX2 "L" HLT

MR3F +/- FIX2 "dH" HLT

MR96 FIX2 "GH" HLT

GOTO1

P17

AC DEG "High 2 ( h,l )" HLT

MR91 "EL" HLT

Min91 MR92 "IH" HLT

Min92 X>=0 GOTO3

MR81 "X1" HLT

Min81 MR82 "Y1" HLT

Min82 MR83 "X2" HLT

Min83 Min89 MR84 "Y2" HLT

Min84 X=0 GOTO2

MR84 - MR82 ) R>P ( MR83 - MR81 = Min6F Min00 X<>Y X>=0 GOTO1

+ 360 =

LBL1 Min7F MinF "AZ" SDMS HLT

MR6F FIX3 "L" HLT

GOTO3

LBL2 MR89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min7F MinF 

LBL3 MR93 "MH" HLT

Min93 MR1F "dh" HLT

Min1F MR92 X>=0 GOTO4

MR2F "dL" HLT

Min2F 

LBL4 MR1F + MR92 ABS - MR93 ABS + MR91 = Min96 FIX3 "GH" HLT

MR92 X>=0 GOTO7

MR97 "HA" HLT

Min97 ABS Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = + MRF - 360 Min95 =

LBL5 X>=0 GOTO6

+ MR95 = GOTO5

LBL6 Min95 "AZ" SDMS HLT

MR95 SIN * MR2F = Min3F MR95 COS * MR2F = Min4F + MR82 = Min9F MR3F + MR81 = Min8F FIX3 "X" HLT

MR9F FIX3 "Y" HLT

MR93 X>=0 GOTO3

MR8F Min81 MR9F Min82 MR95 - 180 = MinF 

LBL7 MR93 X>=0 GOTO3

MR96 Min91 MR92 "IH" HLT

Min92 GOTO3

P18

LBL1 AC DEG "High 3 ( S,V )" HLT

MR91 "*EL" HLT

Min91 MR92 "IH" HLT

Min92 MR93 "MH" HLT

Min93 MR90 "S" HLT

ABS Min90 MR5F "V" HLT

Min5F ABS Min89 INT + ( MR89 FRAC * 2 10^X ) Min4F INT / 60 + MR4F FRAC / 36 = Min95 COS * MR90 = Min3F MR95 SIN * MR90 = Min4F Min94 MR5F X>=0 GOTO2

MR3F Min94 

LBL2 MR94 FIX3 "L" HLT

MR5F X>=0 GOTO3

MR4F Min3F 

LBL3 MR3F + MR92 ABS - MR93 ABS = Min1F +/- FIX3 "DH" HLT

+ MR91 = Min96 FIX3 "GH" HLT

GOTO1

P19

LBL1 AC DEG "High 4 ( dh )" HLT

MR91 "*EL" HLT

Min91 MR92 "IH" HLT

Min92 MR93 "MH" HLT

Min93 MR1F "dh" HLT

Min1F + MR92 ABS - MR93 ABS = Min2F +/- FIX3 "DH" HLT

+ MR91 = Min96 FIX3 "GH" HLT

GOTO1

"Coded by Toshio KAWAGUCHI NIFTY-Serve ID:KHF00050"

END

Memory List

【ポケコンとパソコン間の送受信】

1.通信条件の設定

【パソコン】

① Windows95 のハイパーターミナルを起動します。

   スタート -> プログラム -> ハイパーターミナル -> Hypertrm.exe の順で選

　択してください。

② 「接続の設定」ウインドウが現れるので、「名前(N)」に "FX-603P"と入力し

　　て OK をクリックします。

③「電話番号」ウインドウが現れるので、「接続方法(N)」の欄を "COM1へダイ

　レクト"を選択し、 OK をクリックします。

   注）ケーブルを COM1 以外に接続している場合（COM2,COM3,COM4など）は、そちらを選択してください。

④「ポートの設定」ウインドウが現れるので、次のように値を変更し、OK をク

　リックしてください。

　

                      CASIO  FX-603P              SHARP  PC-E500

         ビット/秒(B)      4800                        1200

      データビット(D)      7                           8

          パリティ(P)      偶数                        なし

    ストップビット(S)      2                           1

        フロー制御(F)      Xon/Xoff                    Xon/Xoff

⑤「新しい接続-ハイパーターミナル」の画面が現れるので、「ファイル(F)」

　メニューから「名前を付けて保存(A)」を選択します。

⑥「保存(S)」をクリックします。

   注）次回からは"FX-603P"と名前がついたファイルをダブルクリックすれば、

ハイパーターミナルが起動します。

このファイルには上記の設定内容も保存されていますので設定は不要です。

【FX-603P】

POKE 命令を使用して通信条件を設定します。

以下の操作のうち、②は特に慎重に行ってください

操作を誤るとメモリー破壊を起こすことがあります。

①MODE -> - -> SHIFT -> BIN(LOG)の順に押します。

         ↑

        注）これは - (マイナス)の記号を入力

②10100010 -> 2ndF -> POKE(GOTO) -> 0892 の順に押します。
③MODE -> 1 の順に押します。

パソコンから FX-603P へのプログラム送信

Ⅰ.受信側(FX-603P)の準備をする。

   ① MODE -> X の順に押します。

   ② SHIFT -> RSLOAD(FST) -> SHIFT -> EXE の順に押します。

   ③ FX-603P の画面が受信直前の状態に戻ったら、MODE -> 1 の順に押します。

Ⅱ.送信する（パソコン）

   ① "FX-603P"のファイルをダブルクリックし、ハイパーターミナルを起動します。

   ②「転送(T)」メニューから「テキストファイルの送信(T)」を選択します。

   ③送信するファイルを選択し、「開く(O)」をクリックします。

   ④FX-603P の画面が受信直前の状態に戻ったら、「ファイル(F)」メニュー

     から「ハイパーターミナルの終了」を選択します。

FX-603P から パソコン へのプログラム転送

Ⅰ.受信側(パソコン)の準備をする。

   ①ハイパーターミナルの「転送(T)」メニューから「テキストのキャプチャ     (C)」を選択します。

   ②保存する時のファイル名を入力し OK をクリックします。

     注）ファイル名の拡張子は「.TXT」をおすすめします。

Ⅱ.送信する（FX-603P)

   ① MODE -> X の順に押します。

   ② SHIFT -> RSSAVE(BST) -> SHIFT -> EXE の順に押します。

   ③ FX-603P の画面が受信直前の状態に戻ったら、MODE -> 1 の順に押します。

Ⅲ.ハイパーターミナルを終了する

   ①「ファイル(F)」メニューから「ハイパーターミナルの終了(X)」を選択

      します。 

      注）「現在、接続されています。切断してもよろしいですか？」と表示さ

           れた場合は「はい(Y)」 をクリックしてください。
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